Sclience Revision Pack

Easter Revision Classes:

A Tuesday 9 April 1012am Exam
technique.

A Tuesday B April 122pm Key
scientific principles.

A Friday 1% April 1012am Triple
and higher content.

A Friday 1% April 122pm Using
maths in science.

Exam Dates and Content:

15" May Year 10 Biology topics
17" May Year 10 Chemistry topics
239 May Year 10 Physics topics

JJ

11t June Year 11 Biology topics
13" June Year 11
Chemistry topics

o Do Do To Ix




BIOLOGY REVISIQRell Structure

4 N (
Eukaryotes and Prokaryotes Animal & Plant Cells
Put a tick ("H) or a cross (x) to show whether these parts are _
present in prokaryotes, eukaryotes, or both. Structure Purpose Plant/Animal/Both
Prokaryotes Eukaryotes Controls thecells
activities
DNA
: Cytoplasm
DNA enclosed in a
nucleus Both
Cell membrane
Cell wall Mitochondria
Plasmid DNA in
cvtoplasm Ribosomes Protein synthesis
Y P takes place
Ribosomes ——
Membranebound
\ . organelles iy, Contain
- N chlorophyll,absorb
Label the diagrams of a plant and animal cell. light energy to
make food
Animal Cell Plant Cell
Vacuole
| \ )
| KEY WORDS: ASSESSMENT:
Nucleus
Cellulose
‘ Chloroplast
' Mitochondria p
Ribosome
. J




BIOLOGY REVISIONansport

Specialised Cells

Cells are specialised to carry out a specific
function. The structure gives a clue to its
function. Name as many as you can, include
their adaptations

Specialised Animal Cells Specialised Plant Cells

ﬁ\w a picture to explain diffusion W@

What affects the rate of diffusion?

Give examples of diffusion in living
organisms:

\_

J

ﬂaw a picture to explain how osmosh

works:
Describe the effects of osmosis in animal
cells:

Describe the effects of osmosis in plant
cells:

ﬁescribe active transport: \

How is it different to diffusion?

ﬁow is this cell adapted for the movem%

of substances?

L) Large permanent
vacuele
em—————

Roat Hair Cell

\_ J

-

J

\ /

KEY WORDS:

Specialised
Osmosis
Diffusion

Active Transport
Energy

ASSESSMENT:

W
§




BIOLOGY REVISIQRell Division

( Cell division & Growth

What results in two identical cells being
produced from an original cell?

Fom
= )
Chromosomes in
4 nucleus are copied
=
4
0
4
x Chromatids pulled
n apart and moved
. ; towards poles
7
( %
. Chromosomes
separate
/ 7o
1 (>
| Cell divides
A
a 0 £
. E'I;: !?
\ >

What are unspecialised cells called?

In body cells, what are found in pars

How many pairs?

7

Stem Cells

What type of disorders can stem cells be used in treating?

Where can embryonic stem cells come from?

Why are some people concerned about the use of embryos?

.
(
Stem Cell Debate
Reasons for Stem CBEsearch Reasons against Stem Gedlsearch
\

What is cell differentiation?

When can it happen in
humans/plants?

KEY WORDS ASSESSMENT:

Stem Cells
Ethics
Mitosis
DNA p
Chromosomes




BIOLOGY REVISIOQrganisation

(Label the stomach with the names of the )
different tissues; epithelial, glandular and
muscular.

(Put the following in size order: \

Cell, Organism, Organ System, Organelle,
Organ, Tissue.

V

€« €« €« €

\. J J
( )
Complete the table about the tissues in the stomach
Tissue Function
Muscular
Glandular
Epithelial

-

Define the following terms

Organelle

Tissue

Organ

Organ System

KEY WORDS:

Structure
Function
Organelle
Organism
Tissue

A
§

ASSESSMENT:




BIOLOGY REVISIQNXDrganisation and the Digestive System

r , N : N
Proteins, Catalysts & Enzymeq( Factors Affecting Enzymaction Label the organs of the digestive system

Heat energy Optimum _— Enzymes

H causes more  temperaturé for  denature at high
What are protein molecules made of? aMGhs limanya cose:. Grnicatins oo
between to 37°C rate falls rapidly
enzyme and
substrate

Give 3 examples of what proteins can be

hY
Rate of reaction

What are enzymes and what do they dof

0 10 20 30 40 50 60
Temperature®C

The in a reaction can be
held in the active site and either be If the temperature gets too hot the
connected to another molecule or be enzyme stops working, the enzyme
broken down. becomes . Each
enzyme works best at a particular
\_ J\L value. Yy,
é )

Enzymes in Digestion Speeding up Digestion

Enzyme Reaction What acid is produced from glands in thg
stomach?
Amylase . .
Which 2 enzymes work in the small
intestine?
Protease The liver produces \_
that is stored in the
KEY WORDS ASSESSMENT:
What does bile do?
Denatured
Lipase Bile Zﬁ
Enzymes
Isomerase p
Carbohydrase
\_ J\L Yy, Amylase




BIOLOGY REVISIQ®rganising Animals and Plants

@el the structures of the heart \ 6ate the parts that make up blood: \ ﬂlbd the alveoli \

What substances are transported by the blood:

What is a pacemaker? \ Transport in plants \

What are the jobs of
xylem and phloem?

e
AVE

~\/’

0000000000000
4 P
N '\ —

ﬁescribe how the structure of each blood ve&
helps it carry out its function: ) - _ o
Describe what an artificial heart is and why it is

Artery: used instead of a real heart:

‘B
i
\_

S Y

What is transpiratia? KEY WORDS ASSESSMENT:
Capillary Heart i?
Transport
Alveoli
Xylem Phloem p
\ / Transpiration




BIOLOGY REVISIQEommunicable Diseases

-

Diet:

o

Health

How can the following affect our health?

Stress:

Life Situations:

~

Complete the table with the
differences between bacterial diseases
and viral diseases

Bacterial Viral

-

o

Spreading Pathogens

I How pathogens are spread I

7\

/

J
~

Complete the table key points about the diseases

Bacterial, Viral,
Fungior Protist?

Disease

Keypoints

Measles

HIV/AIDS

Tobacco
Mosaic Virus

2

Salmonella

Gonorrhoea

Rose Black
Spot

Malaria

\
Who was IgnaSemmelwei3
What did he introduce?
Y m‘nﬁ
W 0
‘) ) ‘.,_ 7*?
[ mm e -]
J

KEY WORDS

Viral
Bacterial
Risk Factors
Pathogens
Spreading

ASSESSMENT:

pAe
f




BIOLOGY REVISIQRreventing and Treating Disease

Antibiotics

-

What do antibiotics treat?

related deaths world wide?

o

N

What did antibiotics do the number of disease

How did Alexander Fleming discover Penicillin?

j

Vaccinations

How do vaccines work?

What is in vaccines?

Write how each role of the white blood cells
protects you against disease

Role of white blood
cells

Ingesting

microorganisms

P

-
-

Producing antibodies

Producing antitoxins

To the timeline, add the stages of drug

development:

\_

f Drug Development Timeline \

Why are drugs tested ?

_/

What is herd immunity?

KEY WORDS

Drug
Antibiotic
Vaccine

White Blood Cell
Herd immunity

pAe
f

ASSESSMENT:




BIOLOGY REVISIQNon¢ Communicable Disease

/ Risk Factors

‘\\

List as many risk factors of disease as you can:

For example,

Smoking

Effects of Lifestyle

Complete the table with the possible effects of these risks

/ Cancer

What are the causes of cancer?

Define the following :

Malignant tumour:

Benign tumour:

How is cancer treated?

/
~

Risk Effects
Smoking
Alcohol
lonizing Radiation
Diet
Exercise
Obesity
What is the definition of KEY WORDS ASSESSMENT:
WOIF ND2y 23Sy Q
Risk Factors
Smoking
Alcohol
Carcinogens p
Cancer
Tumour




BIOLOGY REVISIQRhotosynthesis

shows.

concentration

These 3 graphs show the limiting factors for photosynthesis. Explain what each gripp

Used to produce
\ p

How Plants use Glucose

Converted into

.. ) .
Limiting Factors (- Photosynthesis N ( Structure of a Leaf )
Namg the limiting factqrs .an.d. Whatis the equation for photosynthesis? Label the diagram with the following; Epidermis, Palisade layer
explain why the factor is limiting. Chloroplasts, Spongy layer, Air space, Stomata and @eérd
What is used to test for starch?
What is the byproduct of photosynthesis? )
o Jo—— | 2
o %o gg o ol ffacoS© ]
S
. J \. J 9
4 )
B N .
i § i
£ E £
3 : 3
Light intensity ’ Carbon dioxide Temperature

for storage

Used for respiration.
Converted into

and oils for storage.

which strengthens cell waIIs)

KEY WORDS:

Glucose
Limiting Factor
Starch
Structure
Function

i
§

ASSESSMENT:




BIOLOGY REVISIQRespiration

Build larger

Where do most of the reactions for aerobic respiration take place?

Does aerobic respiration just take place in animals?

The energy released may be used by the organism to:

from smaller ones.

Enable

contraction in animals.

Maintain a constant body temperature in colder surroundings in mammals and birds

J

also need more of?

-

.
4 Effect of exercise on the body.
Why do muscles need more energy when you exercise?

What needs to be transported to the muscles?
To do this what changes take place?
What do muscles store glucose as?

If you need more energy when you exercise what other two things will you

What also will you need to remove more of?

N

N
Aerobic Respiration 4 Anaerobic Respiration
Df dz024aS b 2E&3Sy Th / hi H | VelySNpsdeSaindt prEpidugh oxygen for aerobic

respiration, they start to respire anaerobically.

What acid is produced?

Is more or less energy released from glucose in anaerobic

respiration?

When muscles respire anaerobically they build up an

debit.

Heart Rate

Unfit
— Fit

KEY WORDS:

Mitochondria
Lactic acid
Exercise
Oxygen debt

A
§

ASSESSMENT:




BIOLOGY REVISIQNhe Human Nervous System
. AYd )
Responding to change Controlling Conditions (" A
Put the statements in order
The nervous system has receptold The body carefully controls its internal
to detect stimuli. environment. What are 4 of the internal
List the sense organs and the conditions that are controlled? stimulus Sensory neurone motor
stimuli they detect. neurone CNS effector
Why must we keep our temperature constant? muscles in leg pressure receptors in skin
Neurons are nerve cells which aré \t/)\llggégrgan controls the level of sugar in our
found in nerves, which carry |
electrical impulses.
VAN J
(" Reflex Actions A
The main six stages of a reflex action are:
1.
2.
3.
4.
5.
6.
At the junction between two neurons is a synapse, chemicals transmit the impulse
across this gap.
Sens‘?ry rfeic_eptor in
skin of finger i r
Stimulus — ’ Sensory neuron s it mate \ )
for example, e /\\ Grey matter
ot 3 catmaro 4 / ry KEY WORDS: ASSESSMENT:
I 5 (V S Reflex
j"”})| Motor end plate \ Spinal Svnapse *
Biceps muscle (/('///' ) \ p— RZCG ptOI’
contracts and \\\“{\ “‘ p
withdraws hand \;\‘Y\\‘h‘ Motor neuron - \\\;7 Neuron p
1\|\ e, Homeostasis
\ llilillﬁ Spinal cord )




BIOLOGY REVISIONormonal Coordination

4 . " Y4 )

_ _ Contr.ollmg Conditions The artificial control of fertility (" Label the diagram of the endocrine system with the
Follicle stimulating hormon@=SHjs names of the glands and the names of the hormones
made by the pituitary gland and causes Contraceptive pills contain they produce.
eggs to mature and oestrogen to be —
produced. and/or N /
Oestrogenis produced by the ovaries to inhibit FSH. A
and inhibits the further production of FSH can also be used to help a ¥ :
FSH. woman produce .

Luteinising hormonéLH) also made Fertility treatment can be used to testosterone

by the pituitary gland and stimulates prevent pregnancy (e.g. the pancreas &

the mature egg to be released from contraceptive pill), or increase oestrogen

\__the ovary (ovulation). J| chance of pregnancy (e.g. IVF) progesterone
adrenal
é ) - ; ; insulin
Using Hormones in Women Issues involved in contraception. thyroxine
Many use the contraceptive pill to prevent E\Ii'arles
unwanted pregnancies, and also to plan when Advantages Disadvantages testes
they have a baby. )
Hormones can also be used to help women gfi adrenaline
pregnant. glucagon
Older women can use hormone treatment to FSH
allow them to have babies later in life. thyroid
pituitary
Side effects are possible in some women if they
take hormones for a long time.
|
What ethical concerns are there about using
fertility drugs?
\_
KEY WORDS: ASSESSMENT:
Hormone
Insulin
Gland
Contraception s )

Pituitary Gland




BIOLOGY REVISIOReproduction

Cell division & Growth

What results in two identical cells
being produced from an original
cell?

C i )
Chromosomes in
L nucleus are copied
=2
=&
4
3
i
)
| 4
, Chromatids pulled
n apart and moved
M towards poles
i <.
(%
N1 ¢
Chromosomes
separate
Vp 7
B O
! Cell divides
b
3 0 £
i ,-_f? I
¢

What are unspecialised cells
called?

In body cells, what are found in
pairs?

Cell division in sexual
reproduction
By which process are gametes(sex cells
produced?
fjﬁ parent cell
=)
é' chromosomes make
%-3 identical copies of
g themselves
=
b sm_ular chromosomes
s? pair up
sections of DNA
4 get swapped
=
% pairs of chromosomes
divide
AN
Y
&g
- g
chromosomes
t{;/ \’\I {,/ \3\, divide

=) G &) &

What does sexual reproduction give
rise to?

What is the difference between
gametes and body cells?

~\

7

Types of Reproduction

Whatare the differences between Sexual and Asexual

reproduction?

7
DNA
What is the genome of an organism?
‘A Where is DNA found in cell?
-_— T
, Describe the structure of DNA.
] - C
\_
KEY WORDS ASSESSMENT:
Meiosis
Mitosis
Gametes
Sexual p
Asexual
DNA




BIOLOGY REVISIQReproduction

N\

Inheritance in Action Inherited Condition in Humans

How many pairs of chromosomes do humans have?

.
s

Some disorders are caused by genes and can be inherited.

What is sex determined by? Cystic fibrosis is caused by a allele.
Genes controlling the same characteristic are called C c
KEY
If an allele can be either or . cc-2s%noma | C| CC Cc
Cc-50% Carriers
cc-25% Has Disorder
Phenotypec physical appearance of the characteristic.
CGenotypec the genetic make ug; DD,Ddor dd. ¢l cc Cc
Homozygous, both alleles are the same DD dd
Heterozygous, the two alleles are different Dd.
J
Embryo Screening ) Polydactyly is caused by a allele.

What is the purpose of embryo screening? 2yS LI NByd

What are the concerns about embryo screening?

amniocentesis
needle

-

Draw a punnet square where one parent has polydactily, and

BRSAY QG KIF GBS A

// KEY WORDS:

Sex chromosome
Dominant
Recessive

Carrier

Genetic disorder

ASSESSMENT:

A
§




BIOLOGY REVISIQMariation and Evolution

Inheritance

What does the nucleus of a cell contain that are thread like?
What do they carry?

When is genetic information from the parents passed to offspring?

In most body cells the chromosomes are in pairs. One set from the female gamete and ofe

from the male gamete.

What do genes control?

N\ ([

.
s

Variation

What causes variation in these dogs?

Give an example of a characteristic that is affected by the environment.

VAN

Natural Selection

Use the Giraffe diagram to explain Natural Selection

KEY WORDS:
Clone
Chromosome
Gene
Gamete p

Sexual reproduction
Asexual reproduction

ASSESSMENT:




BIOLOGY REVISIQMariation and Evolution

e

\_

_ Y4 N\ _ )
How can you clone a plant?
What does genetic engineering
_ _ change?
What is used to clone an animal?
What type of reproduction is used for What might GM crops be resistant
cloning? to?
. . . Ethical issues with
Tissue culture is more expensive but can be .
used to reproduce large numbers of a rare of What is selective breeding? adult cell clonlng
top quality plant. Sometimes animals or 9
plants are genetically modified to reproduce
substances before being cloned. /
VAN J
4 _ , )
Making choices about technology A Adult cell cloning diagram
Advantages Disadvantages h &
Sheep 1 Sheep 2 IJ }} ) .
In adult cell cloning the nucleus of an adult cell e.g. a skin cell,
e replaces the nucleus of an egg cell.
wer VO om0
IR ¢KS ydzOf Sdza 2F |y | Rdz G OSft f
o P o cell. When the animal develops it has the genetic material of
removed—33 o the original adult cell.
e KEY WORDS ASSESSMENT:
el
. :‘[15;39.':"‘3 Tissue culture
: ’ Genetically modified
Genetic engineering
Lomb bom & Adult cellcloning p
For cloning & genetic engineering ] Selective Breeding
\. VAN y,




BIOLOGY REVISIQenetics and Evolution

What do we use to date when different organisms existed?

What part of animals form fossils?
Why might we not have a complete picture of all the organisms that have lived

previously?
Extinctionmeans that a species which once existed has completely died out.

Whatfactors might have caused the extinction of the dinosaurs?

Why might climate change be having an impact on todays species?

-

List as many changes in circumstance that may result in the extinction of a species

4 a 4
From Mendel to DNA Classification and Evolution
What did Gregor Mendel work out with regard to characteristics? PN d A .. 3.4.4 =
;;ﬂ --... - . . . - u-« - u:-l
R {l|
What makes up chromosomes? 1§ ﬂ
What is a small section of DNA? e ,
£
Why is DNA important, what can it be used for? i
\ J This is an example of an evolutionary tree. What can it tell
e : — N\ us?
Exploring the Fossil Evidence

What is group of organisms that can all interbreed called?

Name the three main kingdoms of Eukaryotes.

Biologists study the similarities and differences between
organisms in order to classify them. What is this branch of
biology called?

\_

KEY WORDS: ASSESSMENT:
Extinction

Predator
Speciation

Geographical isolation




BIOLOGY REVISIQMdaptations, Interdependence and Competition

Animals

Plants

Cold areas

Thick fur & blubber to keep
warm

Usually large with a small
surface area: volume ratio

Hot dry areas

Reduce the surface area of
leaves, tissues that store wate|
& extensive root system.

Coat colour may change in
different seasons giving year
round camouflage

Plants develop thornstcto
put animals off.

Loose water through holes in
the leaves called stomata.

Impact of Change

warmer?

two factors?

\_ {o interpret.

4 N/ 4 - )
Adapt & Survive Measuring environmental change Competition
What does adaptation mean? Name 3 noHliving factors: Animals Plants
Name 3 living factors: Give some
examples of
Name an indicator species for both land and how animals
¢ and plants
. . water. compete with
What is an extremophiles? each other.
Why are these indicator species?
. J \. J
4 . 2\ N -
Adaptation in Animals & Plants r \

What may happen if birds fly further North if the climate gets

The distribution of living organisms is affected by changes in wh

The data on the effect of environmental change is not always ez

J

KEY WORDS:

Adaptation
Herbivore
Carnivore

Extremophile
Denature
Stomata

A
§

Competition

ASSESSMENT:

Sy




BIOLOGY REVISIQRrganising an Ecosystem

(" Feeding Relationships N\ ( )
The Carbon Cycle

What is a producer? Give an example.

o The recycling of carbon involves both photosynthesis and respiration.
Why do the arrows point right? What does photosynthesis remove from the atmosphere?

What is a top predator? 2 KSy Ada [/ hi NBft SFaSR o601 Ayiz

Auto and
Grass Grasshopper Frog Python : factory
(Producer) (Primary Consumer)  (Secondary Consumer) (Tertiary Consumer) CITISSINS
4 Y4 )
Decay Processes Predator Prey Graphs
What is needed for decay to happen?
Describe the trend the graph shows

Bacteria and fungi are microorganisms.
Some bacteria and fungi cause decay. whaf Prov
do we call these? ) Predator Decay e

organisms 5 Dead organisms respiration i

Number * and waste products
Name two ways humans can recycle waste ¢

Fossils and fossil fuels

Under what conditions is decay quicker? Time

KEY WORDS: ASSESSMENT:
Biomass
Detritus feeder
Decomposer
Sewage Q

Combustion
Organic waste




BIOLOGY REVISIOMaths Skills

r N 4
Surface Area to Volume Ratio Magnification Equation Units
Complete the diagram
Centimetre
Image height (cm)
_ +10 x10
o Object
SA=6cm? SA =24 cm® SA = 54 cm? Magnification height
Vol = 1 cm? Vol = 8 cm?® Vol = 27 cm® —
SAVOI=6:1  SA:Vol=3:1 SAVoO! = 2:1 Millimetre
. J ()
4 ] . N\ How do we calculate
Lines Of Best Fit magnification?
< X
Draw the line of best fit for this
data How do we calculate image size?
(Hm)
JL\.J
10 F— -
3 How do we calculate actual size? ’ X
§ * Nanometre
7 * *
3 L ( )
5 *
4 e If an image is 2mm long and the N
3 * s actual object is 0.005mm long. ASSESSMENT:
2 What is the magnification?
1+ & | 5
I. L L L : 3 :. L h’l
1 23 45 6 7 8 910
\_ J




C1 REVISION 5 ATOMIC STRUCTURE

2 ([ i
What are the charges and masses of Calculate the number of Chlonne has 2 isotopes, 75% is Cl >and 25% Draw and label the plum -pudding
electrons, protons and neutrons protons, neutrons and is CI37. Calculate the relative atomic mass of model of the atom

electrons these atoms have: Chlorine. Give your answer to 1dp.
Charge Mass
Prot 9 | P
roton B e4 E=
N=
Neutron —
Electron 9| P= . .
E= Describe the scattering
19 B experiment
Where are the protons, neutrons and N=
electrons in an atom found? — J \\ J
Balance the following equation: What is a mixture?
\ y Ca + 0, —» CaO
) , Cl, + Al —» AICl 4
What is an isotope?

How many atoms and elements are there in C ,H;OH

Atoms =
How did this lead to a change in
Elements = the atomic model?
. ! . \/
Draw the electronic configuration of Argon Describe a method to separate the Describe using diagrams how to
dyes in coloured inks separate two or more liquids

using fractional distillation

Draw and label the nuclear model
of the atom

Write the electronic configuration of argon




C1 REVISION 0 THE PERIODIC TABLE

e N\ 7 N\ 7
discovered  incomplete  atomic number  leaving gaps — atomic weight Mendeleev Group 7 4 the halogens: Group 1 & the alkali metals:

How many electrons in outer shell? How many electrons in outer shell?

Before the discovery of protons, neutrons and electrons, scientists

arranged the elements in order of their . The early

Describe the physical properties: Describe the reactions of Lithium,
o ) Sodium and Potassium with:
periodic tables were and some elements were placed in
Oxygen
inappropriate groups if the order of atomic weights was followed.
overcame some of the problems by for
elements that he thought had not been . Chiorine

Why do the elements in group 7 become

The modern periodic table is ordered by more reactive as you go up the group?

\ J

Group 0 6 the noble gases: Water
How many electrons in outer shell?

Describe the physical properties:

Why do the elements in group 1
become more reactive as you go down

. . : . the group?
Describe and explain the chemical properties: group

4 )
Use two 12 _ 5 4 5 8 1T o
. i 4
different H He
Key s [t
colours to 7 9 relaive atomic mass 1] 12 | 4 | 16 | 19 | 20
. . . h Li Be atomic symbol B [+ N (o] F Ne
distinguish | =5 == o o munver el il W
23 24 27 28 N 32 355 40
between : .
o . wnen | v || s | e | oo Complete and balance the following
metals and 1 12 13 14 15 16 17 18 . .
39 | 40 | 45 | 48 | 51 | 52 | 55 | 56 | 50 | 59 | 635 | €5 | 70 | 73 | 75 | 79 | 80 | &4 chemical equathﬂS:
K | C s Tio| v || m F c Ni | C z Ga | Ge | As | S B Ki
NOMF-METAIS [ rokin| i | S| e | b | v g ko | o | b | oo | | oo |oomi| o | st | i | g
h 19 | 20 | 21 | 2 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36
85 88 89 a1 93 96 98] 101 103 106 108 12 115 119 122 128 127 131
on the Rb | sr ¥ Zr [ Nb | Mo | Tc | Ru | Rh | Pd | Ag | Cd n | Sn | Sb | Te 1 Xe NacCl + F A +
PURT ikt | stortrn | yteum | vconken | iobam [yt techmoion| beniom | ot | petetum | sier | cotmkam | iiem | tn | antiveny | eeian | oans | soeun 2
perIOdIC 37 | 38 | 39 | 40 | 41 | 42 | 43 | 44 | 45 | 46 | 47 | 48 | 49 | 50 | 51 | 52 | 53 | 54
133 | 137 | 139 | 178 | 181 | 184 | 186 | 190 | 192 | 195 | 197 | 201 | 204 | 207 | 200 | [209] | [210] | [222]
table Cs | Ba | La* | Hf | Ta | W | Re | Os Ir Pt  Au | Hg | Tl | Pb | Bi | Po | At | Rn .
comiam | barium |t | i | tarsia | trgeten | e | comium | icuan | plaonen it | ey | oo | et | bt | polooum | ssisire | rdon LiBr + | A +
55 | 56 | &5/ | 72 | 73 | 74 |75 | 76 | 77 |78 | 79 |80 | 81 | 82 | 83 | 84 | 85 | 86 2

[223] | [226] | [227] | (261) | [262] | [266) | [264] | [277) | [268] | [271] | [272]
Fr Ra Ac* Rf Db Sg Bh Hs Mt Ds Rg Elements with atomic numbers 112 — 116 have been
actinum Junororaun| dubmum  saborgum | bohrum mstoatam | Foenigenium reported but not fully authenticated

87 | 88 | “Be" |™iGa | “i05 106 | 107 | 08 | 408 | 110 | 111 KBr + ClL, A +



http://www.google.co.uk/url?sa=i&rct=j&q=&esrc=s&frm=1&source=images&cd=&cad=rja&uact=8&ved=0ahUKEwi3hquO7pfKAhUEXBQKHd0FDAQQjRwIBw&url=http://picterest.info/V2FpbpdQ-printable-periodic-table-2014/&bvm=bv.110151844,d.d24&psig=AFQjCNEpTNKz_8t6lXTppyrpmAbnJ-DxVQ&ust=1452261576356399

C1l REVISION & IONIC BONDING

(Use a diagram to describe how Potassium (K) Chloride (Cl) is formed:

OO-OC

What is an ion?

Li*
\. J
( N . . . . ) F_
Give the electronic Describe what happens when Oxygen and Magnesium react to form an ionic bond
arrangement and charge of:
a) A Sodium ion 02-
Mg2*
b) A Chloride ion
J \_

7
How many protons, neutrons and
electrons do the following ions have?

[ What is an ionic bond
and how is it formed?

,
Complete the table by giving the name and formula of the ionic compound formed

¢) An Oxide ion Anions
Chloride Oxid lodide Hydroxide
Ct o I OH
O AB , Sodium NacCl
) oronion Na Sodium Chloride
(2]
S| Barium Bal,
\ JL 5 Ba* Barium iodide
Explain why a Calcium ion has a charge of 2+ Calcium Ca(OH)
ca* Calcium hydroxide
Ammonium (NH,),0
NH,* Ammonium oxide




C1l REVISION 0 IONIC COMPOUNDS

Which types of elements carry out ionic bonding?

have ionic bonding?

- \
Compound Melting | Soluble | Conducts
point in electricity
0 x/ 0| water? | when
molten
A 2072 No Yes
B 191 No No
C 782 Yes Yes
D 605 Yes Yes
E 150 Yes No
Identify the compounds from the table that have
ionic bonding and explain your reasoning
How do you know the other compounds do not

(Label the ions in this giant ionic lattice of Sodium
Chloride ( NaCl). Include which is the anion and
cation and the charge on each ion

What forces of attraction hold the ions together in
a giant ionic lattice?

electrons. We call this

electronic structure of a gas.

\

bonding. When atoms react in this way they get the

4 N\
Why do ionic compounds have high melting and
boiling points?
. J
( )
Why can a solid ionic compound not conduct
icitv?
electricity? \ y
\
Why can a molten or dissolved ionic compound
conduct electricity?
\ J y
4 N
Difficult, compound, gaining, fonic, losing, new, noble
When two different elements react together they make a substance called a t
is to separate the elements after the reaction. Some atoms react by or




C1 REVISION & COVALENT BONDING

What is a covalent bond?

Which types of elements
carry out covalent

4 )
Complete the electron shell diagrams

to represent the bonding in the
following molecules:

Oxygen (0,)

Chlorine (Cl,)

bonding?
( N
Complete the electron shell Methane can be
diagrams to represent the bonding written as:
in the following molecules: H
Hydrogen (H ,) . | "
’ Hi CiH
I
H

Write ammonia in
the same way:

Write water in the

Nitrogen (N )

\ J

Describe the limitation of using dot and
cross diagrams

4 .
Complete the electron shell diagram to represent

the bonding in the following molecules:
Water (H ,0)

Methane (CH,)

same way:
Ammonia (NHj)
4 )
Covalent, difficult, compound, new, noble
Hydrogen Chloride ( HCI) When two different elements react together they make a
substance called a Ctis
to separate the elements after the reaction. Some atoms react
by sharing electrons. We call this bonding. When
atoms react in this way they get the electronic structure of a
gas.
\ J \_ J \L




C1 REVISION 0d SIMPLE COVALENT MOLECULES AND GIANT COVALENT STRUCTURES

4 . . .
The majority of covalent molecules are simple covalent molecules like the ones
of the left hand side

The diagrams below show the intermolecular forces between simple covalent
molecules

Explain in terms of intermolecular forces why simple covalent molecules have
low melting and boiling points

Explain why simple covalent molecules do not conduct electricity

\.

7

The diagram below shows the structure of diamond

Q
Describe the structure of diamond
(]
o o o]
%-05%0
Q o -Q—o
= =}
n A\ Q o
O \
L&)

J

The diagram below shows the structure of graphite

Describe the structure of graphite

Why is graphite able to conduct electricity?

Describe the structure of a polymer

Describe the structure of a fullerene

Describe the structure of graphene




